Describe how the classification involved in the biodiversity of an ecosystem is responsible for its sustainability
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1. Complete the table below: (3 pts)
	Ecosystem #
	# of species
	Total organisms
	Diversity index
	Name of ecosystem

	1
	 
	 
	 
	 

	2
	 
	 
	 
	 

	3
	 
	 
	 
	 

	4 
	 
	 
	 
	 

	5
	
	
	
	

	6
	
	
	
	


2. Which of the ecosystems above has the: (1 pt)
a) Highest biodiversity (largest diversity index)?

b) Lowest biodiversity (smallest diversity index)?

3. In your own words, what does biodiversity mean? (1 pt)
4. Which ecosystem above is: (1 pt)
a) The least sustainable?

b) The most sustainable?
FOREST ACTIVITY

5. In Part 2 of the activity (old-growth forest with many different types of trees), why didn't the disease spread as quickly among the Douglas firs as it did in Part 1 (Douglas fir trees only forest)?  (1 pt)
6. In which forest would you need to use more chemicals to control disease to ensure survival of the forest: the Douglas fir forest or the more diversified, old growth forest? Why? (1 pt)
7. Which forest would have more diversity of wildlife? Why? (1 pt)
8. Compare the Douglas fir forest to another type of monoculture – a corn field.  Why would you need to use more insecticides in a monoculture? Is this good or bad? Why (hint: think about a vocabulary word)?
9. If you wanted to help wildlife, what would you do with regards to the landscaping of your own home (choose any of the following): (1 pt)
a) Leave wild plant growth and tree stands alone?
b) Clear out wild plant growth and turn it into lawn?
c) Cut down wild trees and plant 2 specific types of shrubs?
d) Plant many different types of native trees and plants?
